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Which is the standard form for Lgale O giladig A5D5 " sl Licludl) danall & e
“eighty—three million, twenty—three ¢ dig Hi g g AN g

thousand, six™ ?

832, 306

/ >
4 4
g23 006

83, 230, 006

> N

830, 023, 006
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Write the fraction % s a decimal, s 5 & % ol

0.407

0.47 )
__—

0.047

4.70



https://seraj-uae.com/file/7162/

Write the value of the digit 4
highlighted in 51.843.

51,843 4 Jld 4 b)) dud i

1,000

— 4
100

SEE
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Determine the true statement.

12.54 < 1.254

1.254 > 125.4

_—

(J]12.54 > 1.254
\

125.4 < 1.254

Aasauall §iliall ads
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Find the prime factorization of the .30 2l Y Jalgadl ) Jalatl) aagl

number 30.

L

(2x3x5 D

\ ——

2X2x3x5

2X3x3x5

2Xx2Xx5x5
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Write the product 7 X 7 X 7 X 7 hiia 7X T XT X T qpa gl i

using an exponent. .uﬁ\
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On a cross—country vacation, Sahar CUA Aty jaa Cuald (i) 8 dllae o Liaal

filled her 43 -liter petrol tank eleven By Byl () 1A 43 Al ()
times. Which is the best estimate of ) Ol clal sas  Jlaal  aads Jad La
how many liters of petrol she put in TOVAN O lghieiy Cuald
the tank altogether? —
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Multiply.

2 4 3

1,867

1,887

2,167

2,187

+ o)
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Multiply.

690

2,760

6, 600

6,900 | >

- et i)
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Jabir places 7 books on each shelf sl AN Ay JS Ao i< T ks aa

of a bookcase. If he shelves a5dyl) s af (g8l Ao LS 56 auaj 13
56 books, how many shelves are fa.a D)
needed?

6
8 )

63

392
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Shahad divides a bag of fruit snacks
with 5 friends. She divides the 88
shacks equally.

How many fruit snacks will be left

2 Asadlgl) Agslal) (Sola Cre LinS gl Cuawlds

Ogra dakd 88 Ciawld Cua caliaa 5
- (Sgluilly

faidlgl) dgslall adad (e (Al s

over?

3
— T
- 4 />
14

17
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There are 3, 000 sheets of paper in
15 boxes. If each box contains the
same number of sheets of paper,

how many sheets of paper are in

.8g2ia 15 933.3” 3,000 a4

(@) e Ludl o (ggian (@ gt JS OlS )Y

each box?

T@gia JS 8 (@ gY) e asd
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Divide.

3) 534

131

: 178 D

178R1

178 R 2
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There are 65 students traveling in 2 Adla ahliw A O g Al Ll 65 a3

vans on a field trip. Asilie dla
Each van seats 9 students. O 9 dilea Biluw JS Al
How many vans are needed? fdasllaal) ddlial)l Cfjlacdl 23e oS
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Estimate by rounding.
398 - 21

) plaadl: Jue
398 - 21
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Divide.

12) 157

13

14

P—
13R1

14R 2
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Find the missing number in the

division problem below.

colial dacudl Adlawa (8 a3l 23,0 aa gl

35
72)28,440
— 216+
684

- 648v
360

— 360

&



https://seraj-uae.com/file/7162/

Estimate the product:
19.7x 3.

30

40

50

IQ)H\ @lija
19.7X 3
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Multiply.

7 . 4
> S
5.92
56 .2
— —

 59.2

592

- ety
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The average honeybee can travel A s Jaugial) B Jual) At S ot o) (Ko

3.3 meters per second.

Al U< 143.3
How many meters can the honeybee B adats O Jeaad) Al fSas Jiia as
travel in 3. 8 seconds? ‘Uls 3.8

0.2

1.254

T 12.54
S~——_ -
7.1

P N
y
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